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Période 5

Séquence 14  /  Résoudre des problèmes à plusieurs étapes 	 Séance 14B

Les problèmes à 3 étapes

Résous les problèmes suivants.

1 •

1) 	 Calcul : 5 × 8 = 40

Réponse : 40 $euroÒ

2) 	 Calcul : 40 — 32 = 8

Réponse : 8 $euroÒ

3) 	 Calcul : 8 $divIsé $par 2 

	 8 = (2 × 4) + 0

Réponse : 4 $crayoN∑

2 •
1) 	 Calcul : 32 × 10 = 320

Réponse : 320 $siège∑

2) 	 Calcul : 320 — 20 = 300

Réponse : 300 $spectateur∑

3) 	 Calcul : 8 × 300 = 2 400

Réponse : 2 400 $euroÒ

Problème supplémentaire

3 •

1) 	 Calcul : 110 — 10 = 100

Réponse : 100 $crèpe∑  

$à $la $coNfiture

2) 	 Calcul : 100 $divIsé $par 5 

	 100 = (5 × 20) + 0

Réponse : 20 $sachet∑

3) 	 Calcul : 2 × 20 = 40

Réponse : 40 $euroÒ


